1 2 | 3 5 6 7 8
Hexagonal head screw driver
P/N 6103 600 0021
for hexagonal head screw A
. max. torque=0,5Nm 1 cable entr
25 may 10,
/ 05
B
14,8 ||
Internal grounding block
ring 2 rings a _ (optional) C
gz 8 g
Dim. B Dim. B S » _
@For strain relief an additional InduCom cable clamp or a crimp flange and
. . . ferrule combination depending on the cable is necessar
Dim. 8 Dim. 8 Dim. 8 dentification onﬁ Identification onﬁ e !
locking screw locking screw Content InduCom hood Spare parts (M0Q100)
o o Pos. Quantity |Description Part Number Quantity |p
T a3 01 1 metal hood
02 1 metal cover
Y=0 ve3 yes Yot Ye2 03 2 locking screw (assembled):
L-40 UNC x 16,8 M3 x 16.8 M2.6 x 16,8 M3 x 17.6 L-40 UNC x 17,6 either knurled thumb screws 4-40 UNC (for 0010) 0967 002 9018 1 ||
or hexagonal M3 with captive washer (for 1010) 0967 002 9019 1
or hexagonal 4-40 UNC with captive washer (for 2010) 0967 002 9020 1
6103 001 Y010 2227 or knurled thumb screws M3 (for 3010) 0967 002 9017 1
6103 0010010 [ 4-40 UNC Knurled thumb screw Without ring or_knurled thumb screws M2, (for 5010) E
6103 001 1010 M3 Hexagonal screw with captive washer| 1 & Knurled head 04 1 9;2323:29 Elcc::: (not assembled) for version with internal  |pqc3 100 1007 1
6103 001 2010 L-40 UNC |Hexagonal screw with captive washer 3 With internal grounding block : : - — -
6103 001 3010 M3 Knurled thumb screw With ring 05 4 fn"avxerfjrfgﬁz’_gqgﬁmw”h philips head [not losable in cover] fpq¢3 497 ggog 1
6103 001 5010 M2,6 Knurled thumb screw With 2 rings o 1 o Trree oo tol — ||
6103 001 0010 010 | 4-40 UNC Knurled thumb screw Without ring 6’@% Original Size DIN A3 | 1:1 Sub.
6103 001 1010 010 M3 Hexagonal screw with captive washer| 1 & Knurled head Without internal grounding GG | Al rights reserved %Erﬁﬁanfed by ILTJBEecfed by %;ﬂardisafion Date State
6103 001 2010 010 | &-40 UNC |Hexagonal screw with captive washer 3 block w Department €L pp 2021-11-05 Final Release
. . Title , Doc-Key / ECM-Nr.
6103 001 3010 010 M3 Knurled thumb screw With ring _— InduCom g_pole Sfl'&lghf full metal hood SSSSEE/UED/ON /|
Dim. B Identification for . HARTIN "
ype Number Rev. Page
Part Number screw size Screw type locking screw Internal grounding block 0-32339 Espelkanp T8 6103001Y010 A s
1 | 2 | 3 | 5 6 | 7 8

A3



